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1. Which expression is equivalent to y27x%12 ?
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3. The number of bacteria in a swimming pool after
disinfection can be modeled by the equation
Ly = 5500/0.025x + 0.1) where x is the number of minutes.
At what time are there 8000 bacteria left in the
swimming pool?
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express your answer in a + bz form
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5. The expression Vx26 is equivalent to
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|_ | 6. The length a spring is stretch from its natural length with work,

2 2.9 )| W, is given b \ here k is a constant for the given spring. If
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a certain spring nas a constant ofl 32. Qiand the spring is to be
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7. Express (- %) in simplest radical form.
y\frjg; B \)5 \ /\)3 - \Bﬂ[}\.
L 3 2 v LS 2 7
- J
Mo = PR *
g
- - & a
£ b i - rﬁi -
:c‘%b Ty Ll
J
HOMEWORK: Complete Unit 1 Review Sheet
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